> A
A & 0l & A & F Al
2018 & =0l & LBHSIH 224 A It
B2 A Bt
2229z Jls &35
A HHIA JIBtR = (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 0t 2,959,712 3,024,492 A 64,780
2 191,442
J| 192,873
= 217,844
Al 2,357,553
2249z Jls Zst 2,195,613 2,399,672 A 204,059
= 191,442
J| 173,971
< 68,113
Al 1,762,087
BAHOYS MHIA JIEtR= 503,885 594,832 A 90,947
= 23,000
< 5,750
Al 475,135
sSHEA= MHIA A 700 20,800 220,100
405 Xt&tE SHI 700 20,800 220,100
01 AL EFH S 700 20,800 220,100
ONEII(&E) 700,000& = 1CH 700
EAHoABAE & FH KX 2 50,788 49,600 1,188
201 £B-2dH| 10,788 9,600 1,188
02 =224l 10,788 9,600 1,188
O3 Al ZHl s Xl 10,788
DEAXL AZHH Y AlIE A2
500,000& »12& 6,000
>ItESZ I 7Rl 2L 99,000& x12& 1,188
> AALA EH KXzl 3,000,000 14! 3,000
>PSEJ EEgaeld FH sX2e
600,000 » 14! 600
401 A& HIZ 201 Y] 40,000 40,000 0
01 A& HI 40,000 40,000 0
OBAHA (XA, MEA) AIE RA22]
40,000,000& =14 40,000
E2AAMY 2 XA 394,897 363,432 31,465
101 @14 Hl 57,479 47,964 9,515
04 DIt Z2Z2XNHEE S 57,479 47,964 9,515
OBAXAx, BAIAZA S &2 EH 57,479
D Ed €8oF 60,8003 1801 «52 56,909
DAMTHEE S 56,908,800% *1.0/100 570
201 Let24E] 180,798 179,488 1,310
01 At 22l 30,535 30,110 425
O1 Let==EH| 22,060
DOSHIIE =H ==2 11,100




M EAAS D
" 202 J|s Y5t
thel: BHAZMNHIA IS (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
[ORERaEN 300,000& x12& 3,600
OEAHXNA, BEHEZ A
35,000 1700 2 x128 7,140
OHLMETIAHLE 30,0008 *1H 122 360
DAESIE FA 1,000, 000& *13| 1,000
DAEJItEEHA 1,000, 000& *13] 1,000
DAUWSIIE HA 1,000, 000& 13| 1,000
PREABIY D2 SH2
20,0003 *2CH 128 480
DEAXNL, BHIZ A 7,480
OMNRES £ 223 200,000 * 174 2 3,400
OZMH 2 H2psz
20,0003 1700 2128 4,080
03 2g+g 1,260
PRRAR HoloiHE B
70,000 9021 x23] 1,260
O4 1=l 7,215
DAM=Z(OI2) 65,000 1112 7,215
02 232gHl 150,263 149,378 885
O1 3322 ¥ HA 95,860
Dadst=E AER 300,000& »12& 3,600
D2AOIMSE ABE(DA A BE)
10,0002 *3M A+ 12& 360
DEINEBZ(BAN LA, BHEZA)
400,000 #1704 2128 81,600
DEZNERL S () 350,000& »23| 700
D> &I otM 2tef ] 75,0003 8 A x12& 7,200
DIEEE S 600,000& *4CH 2,400
O2 H=l 22,117
PEIHIEERSS 7993 *BAl 2E+30H A %72 1,381
= 4,000 *BAl 2t+90H A x72L 20,736
O3 AlZ FHI =Xl 16,240
DE=J ¥ MEI RX2L 8,520
OEHA 100,000& »2CH »12& 2,400
OEAHXNA, BEHEZ A
30,000 1700 2 x128 6,120
>&H 2 HS KA 1,770,000& * 14 1,770
DO 2H MAH 5,950
OB A, BHAZ A 350,000 17 £ 5,950
O4 Xtg. o8yl 16,046
PPNE=E N 16,046
0&8(4¥) 4,987,000& »1CH 4,987
0s8(F¥) 3,080,000% *1CH 3,080
OstE(4¥) 3,416,000 = 1CH 3,416




EXN: BEAHAIE I}
Bu: 8202 Jls U
el BB MHIA JlpE (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O£ (YEHA) 4,563,000 1 CH 4,563
202 04d| 133,600 114,880 18,720
01 2L HI 123,600 104,880 18,720
OB2AAMNEF=A 123,600
>DEAHA 720,000 «12& 8,640
>EAXA 3,500,000& x12& 42,000
DEAHANS A 2,300,000 x12& 27,600
DPE2FEAHY 3,780,000& x12& 45,360
03 =220 3,000 3,000 0
OBAHA g8 62 0t 3,000,000& =14l 3,000
04 =Ml st dl 7,000 7,000 0
OBAHAL H2=REHA ol 2 H =
7,000,000& x14! 7,000
203 € R F & 7,000 7,000 0
03 AlZ =X QI Q=T 7,000 7,000 0
OAZ D= 7,000,0002 * 14! 7,000
405 XHoHFE S HI 16,020 14,100 1,920
01 AL E B F S| 16,020 14,100 1,920
OPC(2 M) 1,300, 000 x9CH 11,700
OESHUDI(BAHXA) 480,000 x9CH 4,320
BHANES A AL WARSA 14,000 14,000 0
201 YEr2 Y| 14,000 14,000 0
01 AP 22| d| 14,000 14,000 0
O1 LBt=2H| 7,280
DALDNAISH MPEE L A3
250,000& *8IH A 2,000
DENM ¥ EES 660,000 x84 & 5,280
O3 24 6,720
DAL WA ZAIE 70,000 *8IH A x123] 6,720
SHEBAHA S 0|8AF 43,500 132,000 A 88,500
= 23,000
== 5,750
Al 14,750
405 XHo&HF S HI 43,500 132,000 A 88,500
= 23,000
= 5,750
Al 14,750
01 XA 2 ZF S| 43,500 132,000 A 88,500
OBZAHo 2 &H Y 19,500
DAEZTEHI 2 15 19,500,000 = 1Al 19,500
= 13,000
& 3,250




2N
X ZH -
L= B

el

A AR
A9 8 Jls &3
A2 S MHIA DBt =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,250
OYIAS I E 7 24,000,000 =14l 24,000
= 10,000
< 2,500
Al 11,500
A2 XA 364,600 323,560 41,040
< 13,880
Al 350,720
AN XA (SHAL ) 289,200 298,560 A 9,360
307 glz2+ol & 289,200 298,560 A 9,360
01 2724l 289,200 298,560 A 9,360
OFZABH (BAXA , BAZZA) 289,200
DRAZAE 22,000,000& x12& 264,000
DU AE 500,000& x12& 6,000
DAMMES(XZ, X, sHe)
1,600,000& 128 19,200
EAIZ A LolAzze] 37,000 17,000 20,000
< 7,400
Al 29,600
201 et 2,000 0 2,000
< 400
Al 1,600
01 At 22l 2,000 0 2,000
O1 et=2Hl 1,000
DLolAdzeANg A28 L EEE 7
1,000, 000& 14 1,000
< 200
Al 800
O2 e =l 1,000
Dol AtE A8 WSl
1,000, 0002 14 1,000
< 200
Al 800
202 044l 1,000 0 1,000
< 200
Al 800
01 SLHOYI 1,000 0 1,000
OolAzz2te| At ol 1,000, 000& 14 1,000
< 200
Al 800
307 gl2tol & 34,000 17,000 17,000
< 6,800
Al 27,200
01 222l 34,000 17,000 17,000
OBd&zZ A LorAa2z2el 34,000,000 «14) 34,000
< 6,800
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H
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15,120
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6,480
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el NEAA =<

300,000& »621 «12&

= N

21,600
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21,600

=z M H
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60,8003 1211002

6,080,000 /5 x1.53]

60,8003 101 %222
60,8003 121 x5
130,000& =12/ «5&
120,000& =121 +58
10,795,600& *4.5/100

10,795,600 *3.06/100

330,345& %6.55/100
10,795,600 *1.5/100
10,795,600& *1/100
200,000& x1Q!
150,000 12!

12,255
12,255
6,080
1,824
1,338
304
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PN 2AMS B
. BAHOZ
2

2 s &3
SETRIETEE (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DEAD HMEwd ADE(HEZ2E L &A
M) 5,000,000& x 14 5,000
02 3524l 6,634 6,634 0
O1 2222 % HA 2,934
>GPS AlE & 33,000& *13CH x6& 2,574
DolERCASI EIlE 10,000 30 x12& 360
O3 A& &8I =X bl 3,700
DIUHE dASHEY 1,000,000& = 1CH 1,000
PRUE ARA =] 50,000& *20CH 1,000
PolE Soas)| 50,000& =344 1,700
202 04 b 8,640 7,200 1,440
01 2LHOHI 8,640 7,200 1,440
OZgYH AL AIE = 720,000 x12& 8,640
206 M = Hl 193,340 183,090 10,250
01 M= bl 193,340 183,090 10,250
(@)=Igs-FAg=—gely— 189,240
Dt AS (HELH &4SH
30,000 *34 *14H S =100 126,000
DFOXNSHAZ ASH 30,000& x500¢ 15,000
DEAL HAISE A4S
30,000& *24 =150 9,000
> &t Al 10,000& 3004 3,000
>PAEIE SSF2HAM 30,000& *5004 15,000
D20 HHELEMISE RS2AMA
30,000& x500¢ 15,000
> J| I Al 2,200& *1,000H 2,200
>S4&t2 HIXIs IO 70,000& x4 S +8& 2,240
> 2 A A 2,000& *200 % 400
>DRAMH EXE™ 20,000& =104 200
DEHAASIITE Bt 2SS
2,500& #4000 A~ %128 1,200
OYAHALA=E 23 4,100
=g 1,400& *1,0004 1,400
>SS 900& *3,0004 2,700
307 QI2t0| ™ 412,050 384,050 28,000
01 el 2=l 5,050 5,050 0
OHHL AHLB 9,000& 200! 1,800
OJIME(RF)E A 1,300& *2,5009! 3,250
05 A2t E = 407,000 379,000 28,000
OBHA d9i=s S 29
280,000 =141 & Al =100 392,000
OSHS A A s 29
15,000, 000& =14 15,000




PN 2AMS B
. BAHOZ
2

A s &=t
el 2oy CEEEED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
sl 2t el 63,000 63,000 0
307 @lz2tol & 63,000 63,000 0
05 212t & =2 63,000 63,000 0
Ost=Xgal X 63,000,000 »1J4 £ 63,000
Szt 24 30,000 22,000 8,000
201 2erE 30,000 22,000 8,000
01 At2 22l bl 30,000 22,000 8,000
O1 eit=ZH] 30,000
>S=22dztt 2| 300,000& »1002] 30,000
SHMIIOIYZFAS2 YN A & T IbEHAI Ol 4 bl X 34,484 31,068 3,416
2 17,242
< 17,242
301 LetE2 = 34,484 31,068 3,416
= 17,242
S 17,242
01 AHBIEZ X +dl= 34,484 31,068 3,416
OMotetdiel A8 X 34,484 ,000& » 14| 34,484
= 17,242
= 17,242
SHAIQITIGH At A B & EA R R Z2 X 2 151,200 145,800 5,400
= 151,200
301 LetE = 151,200 145,800 5,400
= 151,200
01 MBI 2 X 0= 151,200 145,800 5,400
Ogtdlel mohAbA IIoH A M & X
150,000& »84¢Q1 »12& 151,200
= 151,200
ZAt2el 408,225 593,289 A 185,064
Il 173,971
= 31,241
Al 203,013
grdgael 117,520 117,520 0
201 2grE= 5,200 5,200 0
01 At 22l bl 5,200 5,200 0
O1 eit=ZH] 5,200
D e (A A S) 50,000 x12& 600
DAAMY H=s =HE 3,000,000& 14! 3,000
DOoIE & 2 S22
1,600,000 * 14 1,600
202 o4 4l 4,320 4,320 0
01 ZLHO I 4,320 4,320 0
OaM2AZLIRFT 360,000& = 12& 4,320




A EAAS L
Bu: 8202 Jls U
S HArzel (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 108,000 108,000 0
01 2222l 108,000 108,000 0
OAAIS & IR (2L, 20015 HEAN S
) 95,000,000& =14 95,000
OZHER &+3F 10,000, 0002 14! 10,000
Ossolateld I 3,000,000& =14 3,000
Olol= & o NAMEE 9,300 9,300 0
J| 4,650
Al 4,650
307 21201 A 9,300 9,300 0
J| 4,650
Al 4,650
01 222l 9,300 9,300 0
OdY JCHAl S 3,284,000 » 14! 3,284
J| 1,642
Al 1,642
OuloI £ & EHAl Sk 6,016,000& » 14! 6,016
J| 3,008
Al 3,008
gl ZHET 2l XJ 101,574 99,000 2,574
J| 101,574
307 21201 A 101,574 99,000 2,574
J| 101,574
02 LAFAAFEX 101,574 99,000 2,574
Q9212 ZHET 2elX 2
101,574,000& 14 101,574
J| 101,574
BALMZH2AP ALY 135,494 332,156 A 196,662
J| 67,747
< 13,511
Al 54,236
201 -4 9,400 9,920 A 520
J| 4,700
< 900
Al 3,800
01 At 22l 9,000 9,920 2920
O1 get=&Hl 8,000
DAY =E2H 8,000,000& 14! 8,000
J| 4,000
< 800
Al 3,200
O2 A=W =FHI 1,000
DASH22| T WS 1,000,000 =14l 1,000
J| 500
< 100
Al 400




2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
04 StSEEXNME A B 400 0 400
OLEAA 2 g9 =NTE
400,000& » 14! 400
J| 200
Al 200
202 Oddl 3,400 3,400 0
J| 1,700
< 340
Al 1,360
01 = LH 4 Hi 3,400 3,400 0
oz o b o4l 2,400,000% 14! 2,400
J| 1,200
< 240
Al 960
OT#PI2IA U 2B Ofb|
1,000, 000& 14 1,000
| 500
< 100
Al 400
307 21201 A 122,694 287,214 A 164,520
J| 61,347
< 12,271
Al 49,076
oz = 122,694 287,214 A 164,520
Oogad X X 7,450,000 » 14! 7,450
J| 3,725
= 745
Al 2,980
OZSMET LA L HEX
47,110,000 =14 47,110
J| 23,555
= 4,712
Al 18,843
ozas d=T = 8,096,000& » 14! 8,096
| 4,048
< 810
Al 3,238
OZHDIYR S 23 U =R AT
38,760,000& » 14! 38,760
J| 19,380
< 3,876
Al 15,504
OZsdsrx 21,278,000 » 14! 21,278
J| 10,639
< 2,128
Al 8,511
ZHME 2 EX A 44,337 35,313 9,024
< 17,730
Al 26,607




2N

_t‘l_
M 8A s Zst
el A A CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,000 1,000 0
< 200
Al 800
01 At 22l 1,000 1,000 0
O1 get==2Hl 1,000
> Astael 224 1,000, 000& 14 1,000
< 200
Al 800
202 Odl 600 1,000 A 400
< 120
Al 480
01 = LH 4 Hi 600 1,000 A 400
OZHMEZ WY 600,000 » 14! 600
< 120
Al 480
301 et A= 480 480 0
< 96
Al 384
MIIEEES 480 480 0
Otz gs=g(2aanl) 120,000& *4 2] 480
< 96
Al 384
307 21201 A 42,257 32,833 9,424
< 17,314
Al 24,943
01 222l 42,257 32,833 9,424
OZse T N2 (RALL) L ASH
1,700,000& =14 1,700
< 340
Al 1,360
OFAAE 28, s EJNES R20/sH &Y
18,400, 000& 14 18,400
< 3,680
Al 14,720
Osthlf 2 ~ZE J2A Z At
22,157,000 » 14! 22,157
< 13,294
Al 8,863
oA E 2t 324,922 233,760 91,162
J| 1,900
< 149,731
Al 173,291
ootE otF R 16,760 9,760 7,000
< 3,500
Al 13,260
oo, Dtt® 2l 9,760 9,760 0
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3,000
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3,000
3,000
3,000
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EXN: BEAHAIE I}
Za: ojofE B
e BAHo 2SS NEMAHARSE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
BAHOA =SSN HAHATRS 50,000 0 50,000
== 25,000
Al 25,000
308 XAHXIEHSOIA 50,000 0 50,000
o= 25,000
Al 25,000
10 B 2SUHUSHEAEAE AT Y| 50,000 0 50,000
OoBHo==2X S XNFMAHZRS
50,000,000& = 14! 50,000
& 25,000
Al 25,000
SHAE A AH| 439,177 391,060 48,117
Jl 17,002
Al 422,175
Ol SAH| (E2A A ) 383,397 334,864 48,533
J| 17,002
Al 366,395
Ol SAY|(E2HALE ) 349,393 334,864 14,529
101 e1214| 349,393 334,864 14,529
01 B4 114,035 112,894 1,141
OAZtZ224+% 10,003 & *3821 *300A| 2+ 114,035
02 JIEA 2 % 223,500 221,970 1,530
OZ2FEBAH2 A 208,800
DR ESHS(BEHAL)
1,000, 000& x721 x12& 84,000
PR ESHAS(EAHIA)
800,000& x1321 x12& 124,800
Olns=sgEsa= 180,000,000 *1.5/100 2,700
Oe 2+ (sE) 50,000& x20Q! x12& 12,000
03 I L2 NHE 11,858 0 11,858
Oaz2zE 11,858
PEARE S(2YR)
2,447 %621 x 120 Al 2F 8,962
DEATAMA(REY, YALE)
12,066& #2021 x 120 A| 2+ 2,896
Ol (BHAHSH AL AIY) 34,004 0 34,004
J| 17,002
Al 17,002
101 124 H| 34,004 0 34,004
J| 17,002
Al 17,002
03 RIHEZZXHE = 34,004 0 34,004
OZsHA|HE QA Q12| 34,004
Dol 1,600,000& x12& 19,200




2N
X ZH -
L= B

el

S24A Dt
dZ2EZH|
IH2HH (EAAS D)

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Pl 9,600
Al 9,600
DRELH 50,000& x12& 600
J| 300
Al 300
>ANHZ 6,000,000 =14l 6,000
J| 3,000
Al 3,000
>EAZ 1,000, 000& «1¢@l 1,000
J| 500
Al 500
Daald € WEEX 250,000 x12& 3,000
J| 1,500
Al 1,500
DA 282 3,000,000& =14l 3,000
J| 1,500
Al 1,500
DAsHALIRA O] 1,203,640& 14! 1,204
J| 602
Al 602
S2AH(EHAAIS ) 55,780 56, 196 AN416
Jl2AH| (A A ) 55,780 56, 196 AN416
201 et 9| 37,800 37,236 564
01 AR 22l ] 27,840 27,276 564
O1 bt==H| 24,000
DEASY bt 24,000,000 x 14! 24,000
O5 &4l 3,840
DOof2t.sed22 8,000& 400! x12& 3,840
02 2224 9,960 9,960 0
O1 222 2 HA 9,960
DRERS 300,000 x12& 3,600
DHSR2 45 0002 *8I A x12& 4,320
DedetsE 10,000 1700 A x12& 2,040
202 o4l 6,880 9,360 N 2,480
01 2Ll 6,880 9,360 AN2,480
OJI2g 2=t 240,000& x12& 2,880
BAMN A2=X | 4 dl
4,000,000& * 1Al 4,000
203 €2 F=&d| 11,100 9,600 1,500
01 J| 2 2H L R2F=XH| 3,300 3,300 0
OoBAHAH 3,300,000 =1¢! 3,300
02 AAIAAH 2 =AY 1,920 1,560 360
OFRINAA L2 40,000& =482 1,920
04 FEASHEYIFFEH| 5,880 4,740 1,140
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